Pre-Calculus 12 Name:

6.3 (I) - Radian Measure Block:
Degrees and radians are 2 different units used to measure angles, just as centimetres and inches are both
used to measure length.

Definition:  One radian is the measure of an angle subtended at the centre of a circle by an arc equal in
length to the radius of the circle.

0 = 1 radian

0 360° 0 360°
Note: —= = =

r ¢C r 2mr
Circumiexence

r if © =1 radian, then l: 360 = 1lradian= B60°r
r 2mur 2nr
/ and so, 1 radian = 180 ~57°
T
. ° i .
1 radian= = 1°= radians
T 180°

Ex. 1. Convert to radians (leave in exact form).
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Ex. 2. Convert to radians (leave in exact form). S
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Recall: Arclength =radius when 6 =1 radian.
Soif @ > 1, arclength > radius and if 0 < 1, then arc length < radius.

In general:( arc length =16 (in radians?\

Ex.4. Find the arc length of a circle with radius 5 cm subtended by a central angle of:
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Ex. 2. Sketch each angle in standard position, find 2 coterminal angles, and write an expression to
represent all coterminal angles.
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